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HEARE DS SEH B 47 40 87 13.2 73.8 ANE

3 if N 47 46 93 19.2 73.8 ANE

4 fir A s 53 46 99 252 73.8

5 fr I B 39 40 79 4.8 742 BG AH

6 fir SEILT FERE 42 48 90 15.6 744

7 D7 SR U 51 39 90 15.6 744 ANE

8 iz NREPS 49 46 95 20.4 74.6

9 fir AL Hesg 45 43 88 132 74.8

10 £z ES 46 41 87 12.0 75.0 ANE

11 £z W el 47 45 92 16.8 75.2

12 i TH 7K F7 5 48 43 91 156 754

13 fif A0 EREE 56 47 103 27.6 754

14 w B 52 49 101 252 75.8

15 iz JIET Bk 64 48 112 36.0 76.0 TRE

16 7 FH: i E 46 41 87 10.8 76.2

17 L oK % 49 50 99 22.8 76.2

18 fiz FEN HEA 58 47 105 28.8 76.2

19 fiz R R— 53 52 105 28.8 76.2

20 iz BRI REZ 45 40 85 8.4 76.6 TRE

21 iz ERLI RIS 51 46 97 20.4 76.6

22 7 Bty B 54 46 100 22.8 772

23 {7 IREISS 53 47 100 22.8 772

24 1 7o e IR — 51 46 97 19.2 77.8

25 fir HH 5 I — 55 47 102 24.0 78.0 TRE

26 fif HRR T 48 41 89 10.8 78.2

27 fir PaH] —81 63 55 118 39.6 784

28 fif R % 57 54 111 324 78.6

29 fir MEA ke 58 53 111 32.4 78.6
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